ACC(277KD) B-actin(43KD)

Con CUMS Con CUMS
12 3 1 2 3 1 2 3 1 2 3
" ' S —— - 40 KD
“'ﬂ.... - 270 KD
Con CUMS

45 4 5




FAS(273KD)

Con CUMs

12 31 2 3

270 KD
Con CUMS
45 4 5

. - — 270KD

-actin(43KD)

Con CumMs

12 3 1 2 3

45 KD
35KD

= 45 KD



ATGL(55KD)

Con CUMS

Con CUMS

—————

= 55 KD

= 55 KD

-actin(43KD)

Con CUMS

= 40 KD

Con CUMS

eeGreneseRE oo




p-HSL(82KD) HSL(82KD)

Con CUMS Con CUMS
12 1 2 12 1 2

= = 100 KD
e

100 KD
70 KD

B-actin(43KD)

Con CuMs
12 1 2

s e e e |

Con CUMS

= 40 KD

= 40 KD



p-AKT(60KD) AKT(60KD)

70 KD
55 KD
Con CuMs Con CuMs
4 5 4 5 4 5 4 5
- 70 KD

= 55 KD = 70 KD
= 55 KD




GLUT4(54KD)

Con CUMS

12 31 2 3

70 KD
= 55 KD

Con CUMS

— 70KD
-_”“-‘l— — 55KD

-actin(43KD)

Con CUMS

12 31 2 3

Con CUMS

= 45 KD
= 35KD



ABCA1(220KD) ABCG1(100KD) ApoA1(25KD) B-actin(43KD)

Con CUMS Con CUMS Con CuUMs Con CUMs

12 1 2 12 1 2 12 1 2 12 1 2

= 25 KD
==~ -wo

Con CumMs Con CUMS Con CUMS Con CUMs
3 4 5 3 45 3 4 5 3 45 3 4 5 3 4 5 3 4 5 3 4 5




